Ny n
NB SIGNATURE 120"*48"Boat shape conference table
— SERIES — ASSEMBLY INSTRUCTIONS

L
800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

COMPONENTS

AW-BCT120 Carton A
(A) Top -1pc (B) Rail 1010*40mm-2pcs

<l TN

AW-BCT120 Carton B

(C) Top -1pc (D) Rail 1010*40mm-2pcs
' \
AW-BCT-Leg

@ Side frame -2pcs

AW-BCT-Aleg
@ Side frame -1pc

AW-BCT120 Carton A/AW-BCT120 Carton B
AW-BCT-Leg/AW-BCT-Aleg



Ny n
NB SIGNATURE 120"*48"Boat shape conference table
— SERIES — ASSEMBLY INSTRUCTIONS

L
800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

HARDWARE & TOOLS

AW-BCT120 Carton A
AW-BCT120 Carton B

@ Powered grommet - 1pc @ Screw M 8*25 - 4pcs @Screw M 6*55 - 10pcs @ Allen Key 4mm-1pc ® Allen Key 5mm-1pc

<O~

QY
(L) cable Clip-1PCS (M)Screw M 6*105 - 2pcs ~ (N)Screw M 4*16-6pcs  (O) Bracket 100*50*3.0mm - 1pc
V4 e
= AN N
:

AW-BCT-Leg

(P) Plastic cap-4PCS

<

AW-BCT-Aleg

@ Plastic cap-4PCS

<>

AW-BCT120 Carton A/AW-BCT120 Carton B

AW-BCT-Leg/AW-BCT-Aleg



N BF SIGNATURE 120"*48"Boat shape conference table
— SERIES — ASSEMBLY INSTRUCTIONS

800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 1

STEP 2

AW-BCT120 Carton A/AW-BCT120 Carton B
AW-BCT-Leg/AW-BCT-Aleg



N BF SIGNATURE 120"*48"Boat shape conference table
— SERIES — ASSEMBLY INSTRUCTIONS

800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 3

STEP 4

AW-BCT120 Carton A/AW-BCT120 Carton B
AW-BCT-Leg/AW-BCT-Aleg



N B SIGNATURE 120"*48"Boat shape conference table
— SERIES — ASSEMBLY INSTRUCTIONS

800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 5

AW-BCT120 Carton A/AW-BCT120 Carton B
AW-BCT-Leg/AW-BCT-Aleg



	AW-BCT120  AI部件 (1)
	AW-BCT120  AI部件 (2)
	AW-BCT120  AI步骤1-2
	AW-BCT120  AI步骤3-4
	AW-BCT120  AI步骤5

